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findiude <astream.h>
#include <conio.h>
#indude <math.h>
Int main}()
ficat 2 , b result;
ot << “plaage enter 2 fioat number \n;"
Ot << " enter a." -
dn>> &;
ot << " enter by :
dn>>b;
while (al=0 || bi=0}
result = (a*b)-(a/by(
ot << " result = ¥ << recuk;
ot << "\n please enter 2 flost numbes;”

ot << " enter &7 -
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cin >> a;
ot << "enter b
cin >> b;
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#incdude <iostresm h>
#include <conloh>
Int main}()
nti, f
for (=0 ; i<4 ; (H++
for (J=0 ; j<6 ; J(++
cou's’ >>
{
ok << "'
{
getchi()
retum 0;
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ax*2 +bx+c=0

<indude <iostresm h¥

<indude <conio.h#

<indude <math.h#

Fint main

tabe

Jntd

double r1,:2

; oot << Verter 3 number (3,0,C) for axA2+bx+c 0

;T ot << " please enter &

;cn>>3a

;oo << "please enter b

;eh>>0b

;T << " pleass enter ¢

;en>>¢

Hd= (b*D) - (4%a%c

¥ (@>0

Hri=((-b-sqr(d))(2*=

Ar2= ((-D)+sqra)V(2%a

Lo << ML "<l << Wea 2" << 12
{

Heke f (d==0

Arl = (-B)(2%s

ot << r1r2:"<<nl
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{
(edse ¥ (d<0
; "ot << T rishe nadarim
Jgetch
; return 0
{
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<indude <iostream.h #
<ihdude <conio.h ¥
FOint main
St x
;7 oout << "plesee entéer number 1 - 7 for days
wn>> x
¥ (switch {x
tcass1l
;Toout << “saturday
; break
ccase2
JToout << “sunday
; break
tcawe
JToout << "monday
s break
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: case 4
;"cout << "tusday
;break
:case 5
;"cout << "thirsday
;break
1 case 6
;"cout << "wendsday
;break
1 case 7
;"cout << "friday
;break
: default
;" cout << " this number not corect becuase 1 - 7
;break

{
;O getch

;return O

{
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('n/1) + ...+ (13/1) + (12/1) + 1

<include <iostream.h #
<include <conio.h #
}Qint main

;inti, num
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; long int fact = 1
; float sum =0
;Qclrscr
; " 1 cout << "Enter one number for factoriel
; ¢in >> num
} (++for (i=1 ; i<=num ; i
; fact *= i
; (sum += (1/(float)fact
{
; cout << "\nsum : " << sum
:(getch

;return O

{
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<include <iostream.h #
<include <conio.h #
}Olong int main

pinti, n
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; long int number , maxnumber, price , acord

; float salary , tax , maxsalary = 0

;"1 cout << " please tell sum employers
;cin>>n

}(++for(i=1;i<=n;i

;" cout << "\n please number employer

; ¢in >> number

; " cout << "\n please salary employer

; ¢in >> price

} (if (price <= 400000

; cout << "\n salary is " << price

;" cout << "\n

{

} (else if ( 400000 < price && price < 500001

;acord = price - 400000

; tax = (10 * acord)/ 100

; salary = tax + price

; cout << "\n salary is " << salary

; cout << "\n

{

} (else if ( 500000 < price && price < 700001
;acord = price - 400000

; tax = (15 * acord)/ 100

; cout << "tax " << tax

; salary = tax + price

; cout << "\n salary is " << salary

" cout << "\n
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} (else if ( price > 700000

;acord = price - 400000

; tax = (17 * acord)/ 100

; salary = tax + price

; cout << "\n salary is " << salary

" cout << "\n

{
}(if (price > maxsalary
; maxsalary = salary

; maxnumber = number

W= e e e ] cout << " \n

; cout << " \n maixmum salary is : " << maxsalary

; cout << " \n maixmum salary number is : " << maxnumber
;Ogetch

;return O

{
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<include <iostream.h#
<include <conio.h#
}Oint main

;intx=1,g=1,z,k,n
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;Qclrscr

;"1 ? cout << " how many number for fibonachi
;cin>>n

yn-=2

US> cout<<x<<""<<g

;yZ=X+g

;" >>cout <<z

}++for(k=1;k<=n-1;Kk

» X=4dg
9=z
1Z=X+(g

"S> cout <<z
{
; (Ogetch

;return O
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<include <stdio.h#
<include <iostream.h#
<include <conio.h#
}Qint main
; 'char ch , x="y
}('while (x=="

;" : cout << " please enter r,g,b,w,y for color
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: cin >> ch
} (switch (ch
:'case 'R
:'case 'r
: "cout << "red \n
;break
:'case 'G
:'case 'g
;"cout << " Grean \n
;break
:'case 'B
:'case'b
;"cout << " black \n
;break
: '‘case 'W
: 'case 'w
;"cout << " White \n
;break
:'case 'Y
:'case 'y
;"cout << " Yellow \n
;break
: default
; " cout << " This is not into list color
{
;"1 cout << "please enter Y/N for continu
;cin>>x
{

> Ogetch
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;return O

{

*
*%*
**x*x
*k*kx
*kkkk

*hkikkik

<include <iostream.h#
<include <conio.h#
}Qint main

pinti, ]

}(++for (i=1;i<=6;i

F(++for (j=1;j<=i;]j

;" >> cout
{
; "cout << "\n
{
; Ogetch
; return O

{
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#include <iostream.h<
#include <conio.h<
int main}()
intn ,i, s=1,x=1;
char z;
Hwhile (x
;" cout << " please enter 1 number for complete number

:cin >>n

}(++for (i=2;i<n;i
H(if ((n%i)==

;(s+=(n/i

}(if (n==s
;cout <<" number is complet : " << n
{
} else
;"cout << "not complete
{
; " 1 cout << " \n do you want to continue y/n
;cin>>7z

(if (z=="y
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;continue
else
;x=0

{
;Ogetch

;return O
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<include <iostream.h#
<include <conio.h#
}Qint main
jintn i
; long int number , numberl = 0, number2 =0
;float ave=0 , maxave = 0, twoave =0
;"1 cout << "please n student
;cin>>n
} (++for (i=0 ; i<n ;i
; "o cout << " please number student
; cin >> number
;" cout << " please average student
; cin >> ave
} (if (ave > 20
; "o cout << " please enter average <= 20

; cin >> ave
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} (if (ave > maxave
; twoave = maxave
; maxave = ave
; number2 = numberl
; numberl = number
}( else if (ave > twoave
; twoave = ave
; number2 = number
; cout << " maxaverage is " << maxave << " number student " << numberl
;cout << "\n twoaverage is " << twoave << " number student " << number2
; Ogetch
; return O

N Sh oSl ahdl> ¢ aidyiy yiohl Vlgic @ 1, N auxo sac9 guxo €95 )l )S 0,Lil &y aS duungin s=1U
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<include<iostream.h#
<include<conio.h#
<include<string.h#
;(void allocatemem(int *p, int n
}0int  main

;int*p, n i
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; Qclrscr

; " cout << " Enter Count
;cin>>n

;(allocatemem(p, n

;".cout << "Memory Allocated
;Ogetch

;return O

{

********************************************************************//

}(void allocatemem(int *p, int n
;[P = new int [n

{

<include<iostream.h#

define m5#

(OlInt main

}

;[Int 1,j ,x[m

(++For(i=0; i< m; i

X[i]= x +I

(++For(i=0; i< m;i

;(Cout<<"\n x["<<i<<"]="<<*(X +i
;O Getch

;Return O

{
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X[0]

X[1]

X[2]

X[3]

X[4]

1024

1025

1026

1027

1028
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<include<iostream.h#
<include<conio.h#
<include<string.h#

;(void find(char *str, int n, char *out

}0int  main

;char *str, *out

iintn

;[str = new char[100

;[out = new char[100

; Qclrscr

; " icout << " Enter String
; (cin.get (str, 100

; " rcout << " Enter Number

:cin >>n

;(find(str, n, out

;cout << "Output is : " << out

;Ogetch

‘e
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;return O

{

********************************************************************//

}(void find(char *str, int n, char *out
;int x, i, count
;[int digits[20
Y++for (i=0;n>03i
X =n% 10
;n=n/10
;digits[i] = x
{
eount = i
(++for (i=0; *str ; str
(--for (intj=count-1;j>=0;j

H([if ((*str - 48) == digits[]j

jout + i) = *str )*
T+
{
jout +i) ="\0 )*
{

S S S, ) 1) Sy« oailes (Sag,9 5l 1) aiiyed aSawugi Sl Aol
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<include<iostream.h#

<include<conio.h#

<include<string.h#

}0Qint  main
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;char *strl, *str2, *savestrl

;[strl = new char[100

;[str2 = new char[100

; Oclrscr

; " icout << " Enter Stringl

; (cin.get (strl, 100

; " icout << " Enter String2

;0 cin.get

; (cin.get ('str2 , 100

strl -> str2 /!

;savestrl = strl

(++for (int i = 0; *strl; i

;H+str2 + i) = *strl )*
;'str2 + i) ="\0 )*

;"cout << "Stringl is " << savestrl << "\n
;cout << "String2 is : " << str2

;Ogetch

;return O

{
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<include<iostream.h#
<include<conio.h#

<include<string.h#
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}0int  main

;char *name

;[name = new char[100

; Oclrscr

} do

; " icout << " Enter String

;(cin.get

; (cin.get ( name , 100

('if *name =="b

;"cout << name << "\n
{

;(while (*name

;return O

{

Joai s lincl sac ay |, Ol ¢ olex (S39,9 5l ol Linel adasi (Sol> |, (Snac aii; aS Jugiy Sl a0l
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<include<iostream.h#
<include<conio.h#
<include<string.h#
<include<math.h#
;(void input(char * str
;(void ascii_to_double(char * str, double * value
; (void output(double *f
}0int  main
;[char str[20

;double f
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; Qclrscr

;(input(str
;(ascii_to_double(str, &f
;(output(&f

;(Ogetch

;return O

{

}(void input(char *str
; " 1 (cout << " Enter String (number
; (cin.get (str, 20

{

}(void ascii_to_double(char * str, double * value
;intfag=0,i=0

; value =0 *

}(while (*str

(".' == if (*str

iflag =1

else

('if (*str >="'0" && *str <="9

(if (flag ==

;(value= (*value * 10) + (*str -48 *

else

;(value= *value + (*str -48) / pow(10, ++i *
} else

;"cout << "invalid char

;break
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;Hstr

H(void output(double *f
;" cout << " Number is
;cout << *f

{

S LS L 0logS,T slass b a0l aoby . STy sl
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<include<iostream.h#
<include<conio.h#
<include<stdlib.h#
;(int max(inta, intb,intc
H[int main(int argc , char *argv
;Qclrscr
} (if (argc <=3
;"cout << "Wrong number of parameters
;Ogetch
;exit

{
;(([cout << max(atoi(argv[1]), atoi(argv[2]), atoi(argv[3
» () getch

;return O

{
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} (int max(inta,intb,intc
jintmax =a

(if (b > max

max =b

(if (c > max

;max=c¢

;return max

{

>0, 4 pweSeo b 4 ) Ol &by 1S Jluw,l (sl ayc 0ailg> (S39,9 5l oSl @i, aS Aungin Sl aoliy

<include<iostream.h#
<include<conio.h#
<include<string.h#

; (void invers (char *str
}0int  main

;[char str[100

;Oclrscr

; " cout << " Enter string
; (', cin.get (str, 100

; (invers (str

» () getch

; return O

{

}(void invers ( char *str

;char *savestr = str

Dy

‘e
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(while (*str
;++str
(--for ( str--; str >= savestr ; str

;cout << *str

{
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<include<iostream.h#
<include<conio.h#
<include<string.h#
; (void input(char **names, int *numbers, int n
; (int  search(char **names, int n, char *name
; (void output(int *numbers, int index
}0Qint  main
;[char **names, name[21
;int *numbers, n, index
;char key
; (Oclrscr
;"1 cout << " Enter Count
;cin >>n
;[names = new char * [n
;[numbers = new int [n
;(input (names , numbers, n

} do
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; " icout << " Enter Name For Search
;) cin.get
; (cin.get ( name , 20
;(index = search(names, n, name
}(if (index 1= -1
;(output(numbers, index
; "cout << " For a new search press <y>\n
else {
; "cout << " Not Found, for a new search press <y>\na
:Okey = getch
{
;(while (key =="
;return O

{

************************************************************//

}(void input(char **names, int *numbers, int n
;char *name
Y(++for (inti=0;i<n;i
;[name = new char [21
;" ocout << " Enter Name
;Ocin.get
; (cin.get ( name , 20
;names + i) = name )*
; " 1 cout << " Enter Phone Number
;(cin >> *(numbers + i
{
{

}int search(char **names, int n, char *name

H++for (inti=0;i<n;i
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(if (stremp( *(names + i) , name) ==
return i

{

;return -1

{

}(void output(int *numbers, int index
;" cout << " Phone Number is

;(cout << *(numbers + index

{

AS g S anwlxeo | @) > 359>90 o8] ggozxo olgs | Sl i, aS uwwgis Sl aol
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<include<iostream.h#
<include<conio.h#
; (void separat ( char a[] , char b[] , int len
; (void change (char b[], intarr[], intlen
; (void sum (intarr[], intlen
}0int  main
; const int k=11
; [char a[k] , b[k
; [int arr[k
; Oclrscr
;"1 cout << " Enter string
; (cin.get(a, k
; (separat (a, b,k
; (change (b, arr, k
; (sum (arr, k
; Ogetch

;return O
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{

*********************************************************//

}( void separat ( char a[] , char b[] , int len
;inti, j=0
}( ++for (i=0 ; i<len ;i

Y if (afi] >= '0" && a[i] <=9

; [b0] = afi
;

{
else

}
; 'b] =0
; ]

{

{

{

}( void change ( char b[] , int arr[] , int len
;inti
}( ++for (i=0; i<len ;i
; arr[i] = b[i] - 48
{
{

***********************************************************//

}(void sum (intarr[], int len
;inti, p=0
Y( ++for (i=0 ; i<len ;i

; [p += arr]i
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ycout<<"sum="<< p

{

S)}g g_égp NEY (u,) él>95 u_égp B (u'zJ|
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<include<iostream.h#
<include<conio.h#

}Omain

;[char a[100

;int 11=0,12=0,13=0,5=0
;Oclrscr

;"cout<<"print your string:\n
;cin>>a

}(++for(int i=0;a[i];i
;++if(a[i]>="a'&&a[i]<="'2")I1
;++if(afi]>="A'&&a[i]<="2")I2

++if(afi]>='0'€&a[i]<="9")I3

;++s
{
eout<<" "<<|l<<" "<<2<<" "<<I3<<" <<s
;Ogetch
;return O

{
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#include <iostream.h<

#include <conio.h<

void action(int a[],int loc,int n;(
falaisialaiaiaiaiaisiaiaisiaiaiaiaiaiaisiaiaisiaiaiaiaiaiaisiaiaisiaiaisisiaiaisiaiaisiaiaiaiaiel /4
int main()

}

int i,mid,n,a[100],sigh=-1;

clrscr;()

cout << endl << " Enter n; ": N“

cin >> n;
mid=n/2;
for(i=0;i<n;i(++

}
cout << endl << " Enter a[" << i+1;":[" >>
cin >> a[i;[

{
for(i=0;i<=mid;i(++
}
if (a[mid+(sign*i)]'=0(
}
action(a,mid+(sign*i),n;(

break;

if (sign==1) i;--
sign=-sign;

{

POWEREN.IR

2
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if(i=>mid(
cout << endl << "All element are zero;"
getch;()

return O;

{

****-k****-k****-k-k***-k***********************-k****//
void action(int a[],int loc,int n(

int i;

for (i=0;i<n;i(++

cout << endl << a[i] << " /" << a[loc] << " =" << (float) a[i]/a[loc;[

ouSals " love" aolsSL | Ol (08,5 5le> wledS olodc 0ailgs S39,9 5l 1) oSl @i, aS dungis Sl Aol
o Juas™ | love you, you love" aiw, au U | hate you,you doer" aso, Wio. 1S

e
<include<iostream.h#
<include<conio.h#
<include<string.h#
; ([Jvoid Replace( char a[] , char b
}0int  main
;econst int k=100
;[char alk], b[k
; Oclrscr
; "1 cout << " Enter string

; (cinget(a, k
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;(" " strcat(a

; (Replace(a, b
jcout << b

; Ogetch

;return O

{

************************************************************//

}([Jvoid Replace( char a[] , char b
[char word[25
Sinti,j=0,p=0

;b[0] =0

} (++for (i=0 ; i<strlen(a) ; i
O ==[f (ali

;word[j] = 32

-word[j + 1] = 0

(if ((i - p) ==

;(" strcat(b , "love

else

;(strcat(b , word

p=i+1
J=0

{
else

}
:[word[j] = ali
S+

{
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<include<iostream.h#
<include<conio.h#
<include<string.h#

; ([Jvoid Replace( char a[] , char b
}OQint  main

;eonst int k=100

;[char a[k], b[k

; Oclrscr

;" cout << " Enter string

; (cinget(a,k

;" strecat(a

; (Replace(a, b

;cout << b

» Ogetch

; return O

{
fisiaishisishisisiisiaiaisiaisiaisiaisisishishisiaiaisiaisiaisiaisisishisaiaiaiaiaiaisiaisiaisiaiei/
}([dvoid Replace( char a[] , char b
;[char word[25

;inti, j=0,p=0

;b[0] =0
} ( ++for (i=0 ; i<strlen(a) ; i
O ==[if (ali

;word[j] = 32

;word[j + 11 =0

(if (i - p) ==
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;(" strcat(b , "love
else

;(strcat(b , word

p=i+1
J=0

{
else

}
J[word[j] = a[i
S+t

{
{

Ulg>. 268 99 > S2 @i, ) | ST @i, « oulgs (S39,9 51 | 29 S1 @i, 9> aS gy Sl Aol
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<include<iostream.h#
<include<conio.h#
<include<stdlib.h#

;( void search(char a[],char b[],int ,int
}Ovoid main

;const int k=20,p=5

;[char a[K],b[p

;Qclrscr

;"':cout << "enter your strigs
icin>>a>>bh

;(search(a,b,k,p
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{

}(void search(char a[],char b[],int k,int p
;(++for(int len=1;b[len];len

}(++for(int i=0;i<k;i

H(++for(int j=0;j<len & i+j<k; j
([if(a[i+j]'=b[i

; break

}if(j==len-1

;".cout<<"found

;Ogetch

;(exit(0

{

;".cout<<"not found
;Ogetch

{

aid,S Ll )y aS W,bgs 4 5l i, Ul aS 1S paziw « 0lg> S39,9 5l |y Sl @i,y aS wwgis S| aoliy
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<include<iostream.h#
<include<conio.h#
<include<stdlib.h#
}0int main
; const int n=21
; [char arr[n
; Qclrscr

;inti, j=0, count=0
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; " 1 cout << " Enter string
; (cin.get (arr, n
}( ++for (i=0; arr[i] ;i
; ++ count
{
;int help=count
} do
; -- count
( [if Carr[j] == arr[count
;
}else
; "cout << "no
; Ogetch
;(exit(0
{
; "cout << "yes
; (while (j < help/2 {
;cout<<"yes
; Ogetch

;return O

{

Dy S\>9,> W LgJT)bSJ wleds slas o|).o.® U

-C
<include<iostream.h#
<include<conio.h#

<include<string.h#
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; ([Jvoid Calc( char a
}0Oint  main

;econst int k=100

;[char a[k

; Qclrscr

;"' 1 cout << " Enter string
; (L, cinget(a, k

; (Calc( a

; Ogetch

;return O

{

}([void Calc( char a

;[int ar[30

;inti

;char ¢

(++for (i=0;i<30 ;i
;ar[il]=0

(++for (i=0 ; i<strlen(a) ; i
;++[(ar[ (a[i] - 97

(++for (i=0;i<30 ;i

(if (ar[i] '=0

ic=1+97
jlcout << c << "" << arfi] <<"\n

{
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<include<iostream.h#
<include<conio.h#

; (void input (int[], int
; (void bubble (int[], int
; (void output (int[], int
}0int main
;const int k=10
; [int arr[k
; Qclrscr
;" ocout << " Enter arrey
; Cinput (arr, k
; (bubble (arr, k
; (output (arr, k
; Ogetch
; return O
{
}(void input (intarr[], int k
;int i
H( ++for (i=0 ; i<k ;i
; [cin >> arr][i
{
{

}(void bubble (int arr[] , int k
;inti, j, temp
}(--for (i=k-1;i>0;i

F(++for (j=0;j<i;]
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FCOF Carr[j] > arrfj+1
; [temp = arr[j
; [arr[i] = arr[j+1

;arr[j+1] = temp

{

}( void output (int arr[] , int k
;inti

}( ++for (i=0; i<k ;i

; [cout << arrfi

{

95 5l <y sokaio Gl Sl S gox )S0s Zumo (508,20 sacl 1) (508,20 sac &l aS uwgis Sl ol
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¥
<include<iostream.h#
<include<conio.h#
;const int n = 20
;(void input ( char a[], char b[] , int len
;([Jvoid chang ( char a[] , char b[] , int len , int arrl[], int arr2
;([Jvoid sum (inta[], intb[], intlen, intc
;(void output (int c[], int len
}Ovoid main

; [char a[n + 1], b[n+1
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;[int arrl[n], arr2[n], arr3[n + 1
; Oclrscr

; (input(a,b,n

;(chang (a, b, n, arrl, arr2
;(sum (arrl, arr2,n, arr3
:(output (arr3, n+1

; Ogetch

{

********************************************************//

}( void input ( char a[], char b[] , int len
; "1 cout << " Enter number 1

; cin >>a

; " cout << " Enter number 2

;cin>>Db

{

}([Ovoid chang ( char a[], char b[] , int len , int arrl[], int arr2
;int i
}( ++for (i=0; i<len ;i
;arrl[i] = a[i] - 48
;arr2[i] = bl[i] - 48
{
{

H[void sum (inta[], intb[], intlen,intc
;int m,temp=20

}do

;--len

; m = a[len] + b[len] + temp
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}(if(m>9
;cflen+1]=m- 10

;temp=1

Jelse
:cflen + 1] =m
S temp =0
{
; (while (len 1= 0 {
;c[0] = temp

{

}( void output (intc[], intlen
;inti

(if (c[0] =0

;[cout << ¢[0

Y ++for (i=1;i<len ;i

; [cout << cfi

{

L ag .-.)

¥
<include <iostream.h#
<include <conio.h#

<include <string.h#
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del //

}([Ivoid del(char s

Nt i,j

}(++for (i=0;s[il;i
Y(++for (j=(i+1);s[j];j
HIf (s[il==sli

; ([strepy(&s[j].&s[j+1

=i
{
{
{
{
------------- main ----------//
}0int main

;const int n=11
;[char s[n
;(cin.get(s,n
;(del(s
;cout<<s
;Ogetch

;return O

{

@ |y sl « oxilgs S39,9 5l Jiiwd puxo £95 5| (Sod aS |, Spaic 5 al)l 95 olic aS Jowugiu Sl a0l
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<include<iostream.h#
<include<conio.h#

; (void input (int[], int

; (void bubble (int[] ,int

; (void ed (inta[], intb[], intc[], int
; (void output (intc[], intn
}0int  main

; [int a[5] , b[5] , c[10

; Qclrscr

; (input (a,5

; (Cinput (b, 5

; (bubble (a,5

; (bubble (b, 5
;(ed(a,b,c, 10

;Coutput (c, 10

;Ogetch

;return O

{

***************************************************************//
}( void input (inta[], int k

;inti

;‘cout << " Enter array : " <<'\n

H( ++for (i=0 ; i<k ;i

; [cin >> ai

{

}( void bubble (inta[], intk



/e
POWEREM.IR

PowerEn.ir
;inti, j ,temp
}( for (i=k-1;i>0 ;i
H++for (j=0;j<i;]
HCOf (afi] > afj+1
;[temp = afj
; [alil = alj+1

; a[j+1] = temp

{

Y void ed (inta[], int b[], int c[] ,int k
; inti=0

Y ++for (i=0; i<k/2 ;i

; [elil = a[i

; [e[i+ (k/2) 1= bli

; (bubble (¢, 10

{

**************************************************************//

}(void output (int c[] , intn
int i
}( ++for (i=0; i<n ; i
: [cout << i
{

; Ogetch

{
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<include <iostream.h#

<include <conio.h#

}(void input(int *number,int n

;int

}(++for (i=0; i<n;i

; "1 cout<<"please number student
;(cin>>*(number+i

(i (*(number+i)>20

;"cout << " please enter number betwin 0 - 20 \n

ii-=1

sort //

}(void sort(int *number,int n
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;int K,ij
Y(++for (i=0;i<n;i
Y(++for (j=0;j<n;j
H([if (number[il<numberf[j
;[k=numberf[i
;[number[i]l=numberlj

;number[j]=k

}(void print(int *number,int n
;int

}(++for (i=0;i<n;i
;'cout<<*(number+i)<<‘\t

{

}Qint main

;int *number,n

;" 1 cout << " please student sum
;cin>>n

;[number=new int [n
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;(input(number,n
;(sort(number,n
;(print(number,n
;Ogetch

;return 0

25 i 5l oslawl U 1) sae ol 51 Jud Jgl slacl oloi o6lgs S3959 51 |, N puzo sac aS sungiv Sl aoliy

350 (8>9,5 A 03,S s
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<include <iostream.h#
<include <conio.h#
}Qint main
;int number,i,m,count=0
;"1 cout<< "please one number
;cin>>number
;'‘cout<<"addade aval : "<<'\t
}(++for (i=1;i<number;i
}(++for (m=2; m<=i; m
(if (i%om==0
;++count

{
(if (count==
Jcout<<i<<'\t
;count=0

{
;Ogetch

‘e
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;return 0
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¥
<include<iostream.h#
<include<conio.h#
}Omain
;long double a
;Qclrscr
;":cout<<"enter a number
;cin>>a
;long int al
;al=(long int)a
;a=a-(long double)al
;long int b=0
;int i=0
}(while(a>0.0001&&i<5&&a<0.9999
;a*=10
;b=b*10+(long int)a
;a-=(long double)(long int)a
T

{
;++if(a>0.9999)b
jcout<<" "<<al<<" "<<b
;O getch

;return O
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<include <stdlib.h#
<include <stdio.h#
<include<string.h#

/* */

(int main(void
}

;int g=10
;double n
;[char s[25

/* */

;n = 48699.2047

;(gevt(n,g,s

;Cprintf(” varoonge \n

;((printf("namaysh = %s\n", strrev(s

{

cCowl 05,5 joc Aol e 9 a8y iy welw Jx

e
<include<iostream.h#
<include<conio.h#
}Qint main

;int x,y,s,m,r,h,d,f
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;":cout<<"enter a number of sale tavalod
;Cin>>x

;":cout<<"enter a number of sale hazer
;cin>>y

;S=Y-X

;m=(y-x)*12

;r=(y-x)*365

;h=(y-x)*8760

;d=(y-x)*525600

;f=(y-x)*31536000
joout<<"s="<<s<<"m="<<m<<"r="<<r<<"h="<<h<<"d="<<d<<"f="<<f
;Ogetch

;return O

{

Alos pansi pB 81385 gy U | el ¢ 0ilg> 5399 51 1) o umo 33 95 AS uugin Sl Aol
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#<include <iostream.h
<include <conio.h #

}Qint main

;int a,b,c=0

;"' cout << " Enter tow number
icin>>a>>b

Hwhile (a>=b

;cout << " KHAREJ GHESMAT =" << ¢
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;cout << " BAGHI MANDE =" << a
;(Ogetch

;return O

{

. 2SOl Liowibw 9 s wows> o [ Ul Usleo « 468,38 zuul 9 wed wow> Sl alold aS dwugiv Sl aol
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¥
<include <iostream.h #
<include <conio.h #
;(void inputl(float fot,float inch
;(void hsb(float fot,float inch
;(void outputl (float metr,int sw
;float fot,inch,metr
}Qint main
;(inputl(fot,inch
;Ogetch
;return O
{
}(void inputl(float fot,float inch
;" cout << "Enter for foot
;cin >> fot
;" cout << "Enter for INCH
;cin >> inch
;(hsb(fot,inch
{
}(void hsh(float fot,float inch

:metr = fot * 0.3048
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;(outputl (metr,1
;metr = (inch * (0.3048 / 12))*100
;(outputl (metr,2
{
}(void outputl(float metr,int sw
}Gif (sw ==
jcout << " \n FOT =" << metr
{
(if (sw ==
jcout << "™\n INCH =" << metr

{

S oslaswl Ol 5l aS g Sl aoly . cowl (siio b i guzs lado S5 pgs UlegS,l 9 Double

e
<include <conio.h#
<include <iostream.h#
<include <math.h#
}Ovoid tav
;double a,r=1,r1
;int b,i
;" cout << "please 2 number for a™b
;cin>>a>>hb
}Gif (b>1
Y(++for (i=1; i<=b ;i
;r = (double)r*a

{
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; cout << "result : " <<
{
{; else if (b==1){cout << "result : " << a
} (else if (b<1
Y(++for (i=1 ; i<=abs(b) ; i
;r = (double)r*a
{
;r1l = (double)1/r
; cout << "result : " <<rl

{

}Qint main
;Otav
;Ogetch

;return O

{
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<include <iostream.h#
<include <conio.h#
}(void print(char ¢, int i, int j
;intn,k

Y++for(n=1;n<=i;n
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Y++for(k=1;k<=j;k
jcout << ¢

{

J'cout << \n

{
{

1/

}Oint main

;inta,b

; char ch

;Oclrscr

;" cout << "enter 2 number
;cin>>a>>b

; " cout << "please enter a character
; cin >>ch

;(print (ch,a,b

;(getch

;return O

{

¢ ol « 1S Ll Giwlos axéw j Ugiw Ui ugiw 5l |, Ol ¢ oailg> S3959 51 1, S,55,18 aS acunugis Sl aoliy
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<include <iostream.h#
<include <conio.h#
}(void print(char ¢, inti, intj
;intn Kk

}(++for (n=1 ; n<=i;n
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;u "ss COUt

{
}(++for (k=1 ; k<=(j-i) ; k
jcout << ¢

{

1/

}Qint main

;inta, b

; char ch

; " 1 cout << " enter a character

:cin >> ch

; " o (cout << " enter 2 number (a<b
icin>>a>>b

;(print (ch,a,b

:(getch

;return O

{

9 wyalols « Jolai « U ¢ S Jlw)l sl @y oa6lgs Sng59 51 | S)liucl sae 95 aS auwgiu Sl aoly
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<include <iostream.h#
<include <conio.h#
} (void m(float x,float y
;float f,k,i
;f=x*ry

k= Xxly
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Ji=X-y
;'‘cout<<"hasel x-y : " << i<<'\n
;'‘cout<<"hasel x*y : " << f <<\n
;'cout<<"hasel x/y : " << k <<'\n
{
//
}Qint main
;float a,b
;Qclrscr

;" 1 cout<<"enter 2 number
;cin>>a>>b

;(m(a,b

;Ogetch

;return O

{

<include <iostream.h#
<include <conio.h#
<include <math.h#
}(void m(int a, intb , intc
;intd

;double r1,r2

;(d= (b*b) - (4*a*c

}(if (d>0

;(rl=-b-sqrt(d)/(2*a

(15,8 iy sdol @by @) 50 s>953 @ |y Ol lpyls> < 03,8
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;(r2= -b+sqrt(d)/(2*a

(Mrecout<<'rl M <<rl <<'\t'<< "r2
{

}(else if (d==

;(rl=-b/(2*a

cout << "rlr2:"<<rl
{

(else if (d<0

; " cout << "rishe nadarim

{
/

} Oint main

;intx,y,z

;Oclrscr

; " cout << "enter 3 number (a,b,c) for ax™2+bx+c
CinN>>x>>y>>7

;(m(x,y,z

;Ogetch

;return O

{
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<include <iostream.h#
<include <conio.h#
}(float dama(float a

;(return(a-273

{
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}Qint main

;float x

;Oclrscr

;"' 1 cout<<"enter a temprecher farenhait
;cin>>x

;(cout<<"silicius temperacher is : "<<dama(x
;(getch

;return O

{

.J.J|>)§).g ¢

e
<include <iostream.h#
<include <conio.h#
}(float k (float a,float b,float ¢
; float s
;5= (a+b+c)/3
;return s

{

main //

}Qint main

;float x,y,z

;Qclrscr

;" 1 cout <<" please 3 number
CIN>>X>>y>>7

;(cout<<"average is a : " << k(x,y,z
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;Ogetch

;return O

{

TS adoi iiiS5b gy U 1) s=xlgad Srw 5l o> N aS aungis Slaol
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<include <conio.h#
<include <iostream.h#
(long int fibo(long int x

}

(if (x<=0
;return O

(if (x==1]|x==

;return 1

;(return fibo(x-1)+fibo(x-2

{
main //
}Qint main
;long int a
;intn
;"' 1 cout<< " type n number for fibonschi
;cin>>n

}(++for (a=1 ; a<=n;a
;'cout<< fibo(a)<<"\t

{
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;Ogetch

;return O

{
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<include <conio.h#
<include <iostream.h#
}(int m(int x
Hwhile (x!=0
jcout<< x<<'\t

;(return m(x-1

}Qint main

;inta

;" 1 cout<< " please tupe 1 number
;cin >>a

(m(a

;O getch

;return O
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<include <conio.h#
<include <iostream.h#
}(int m(int x
Hwhile (x!=0
Jcout<< x<<'\t

;(return m(x-1

}Qint main

;inta

;" 1 cout<< " please tupe 1 number
;cin >>a

(m(a

;Ogetch

;return O
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<include <iostream.h#

<include <conio.h#
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}Qint main
; float ppen , pa4 ,tavarom , expend

" . cout << " please price pen

cin >> ppen

" . cout << " \n please price a4

cin >> pa4

"1 cout << " \n please %tavarom

cin >> tavarom

tavarom = tavarom / 100

( ppen = ppen + ( ppen * tavarom

( pad = pad + ( pad * tavarom

( expend = ( ppen * 150 ) + ( pad * 50

cout << " expend for 1 year is " << expend

;Ogetch

;return O

{
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e
<include <iostream.h#
<include <conio.h#
}Oint main
; long int x
: x= (( 750000 * 13.5) / 100) * 12

; cout << " expend for 1 yearis " << X

;Ogetch
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;return O

{
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<include <iostream.h#
<include <conio.h#
}Qint main
;intx .,y
;" cout << " please enter kg
;cin >> X
3y = x * 1000
;cout<<"gr:"<<y
;Ogetch

;return O

{

<include <iostream.h#
<include <conio.h#
}Oint main

; floatx ,y

;" cout << " please enter 1 number
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PowerEn.ir
; ¢in >> X
(y=21/((x*2) +x+ 3
;cout<<"y=1/((x*2)+x+3):"<<y
;Ogetch

;return O

{
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